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Book Problem 5

Match each of the following series with the correct statement:

A. The series is absolutely convergent. i A & W.\ﬁ\ e A -\{ = 7
C. The series is conditionally convergent. ﬂ;& (.G/W”’
. e

D. The series diverges. \p Jﬂ"""
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Book Problem 7
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Match each of the following series with the correct statement:

A. The series is convergent by the Alternating Series Test.

B. The series is divergent by the Test for Divergence. f, . &S /\ L,( Ca:mj(rt’};;mo lﬂ'u_': ;’Lq g (’{QC’&;LSj
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Book Problem 9
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How many terms of the series do we need to add in order to { [
find the sum to the indicated accuracy? M=l M !l I ?,‘f 3 /
\

b7 (-059) , error < 0.0005.
= n! :

Answer: ﬂ_ﬁ | (8 e ‘w(&(&ugaqwm e%e’l. -

Note: Enter the smallest possible integer.
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Book Problem 20
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Consider the series E (=" B

n=1

Attempt the Ratio Test to determine whether ‘the series con-
verges.
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Enter the numerical value of the limit L if it converges, INF

if it diverges to infinity, or DIV if it diverges but not to infinitv
Which of the following statements is true?

A. The Ratio Test says that the series converges absolutely.

B. The Ratio Test says that the series diverges.

C. The Ratio Test says that the series converges conditionally.

D. The Ratio Test is inconclusive, but the series converges ab-

solutely by another test or tests,

E. The Ratio Test is inconclusive, but the series diverges by an-

other test or tests.

F. The Ratio Test is inconclusive, but the series converges con-

ditionally by another test or tests.

Enter the letter for your choice here: @
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Book Problem 21 N -5 o7
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Consider the series z T

n=]
Attempt the Ratio Test to determine whether the series con-
verges. ‘
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Enter the numerical value of the limit L if it converges, INF
if it diverges to infinity, or DIV if it diverges but not to infinity.

Which of the following statements is true?
A. The Ratio Test says that the series converges absolutely.
B. The Ratio Test says that the series diverges.
C. The Ratio Test says that the series converges conditionally.
D. The Ratio Test is inconclusive, but the series converges ab-
solutely by another test or tests,
E. The Ratio Test is inconclusive, but the series diverges by an-
other test or tests.
F. The Ratio Test is inconclusive, but the series converges con-
ditionally by another test or tests.

Enter the letter for your choice here:
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ider the series i (=9)" ' 'l ,‘H' 3
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Use the Ratio Test to decide whether the series converges. N —2 2 [7 {’3? 1 I) ¢ 6j f
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Which of the following statements is true?
A. The Ratio Test says that the series converges absolutely.
B. The Ratio Test says that the series diverges,
C. The Ratio Test says that the series converges conditionally.

- D. The Ratio Test is inconclusive, but the series converges ab-
solutely by another test or tests.
E. The Ratio Test is inconclusive, but the series diverges by an-
other test or tests,
F. The Ratio Test is inconclusive, but the series converges con-

ditionally by another test or tests,
Enter the letter for your choice here: @
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Book Problem 27 ISUV\ /‘)ri ‘_<__: ‘
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Match each of the following series with the first correct state-
ment,

A. The series is absolutely convergent using comparison with a
p-series.

B. The series is absolutely convergent using comparison with a
geomeltric series,

C. The series is absolutelyrconvergent using the Ratio Test.

D. The series diverges.
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Book Problem 31

Use either the Ratio Test or the Root Test to decide whether

the following series converge:

A. The series is absolutely convergent.
B. The series is conditionally convergent,

C. The series is divergent.
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Book Problem 39
For each series, determine whether the Ratio Test is conclu-

Al

sive or not, )
Enter C (for “Conclusive”) or enter I (for “Inconclusive™).
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